1.According to the picture, what are the tire checkup contents before riding?

(1) Check if the tires are under the wear indicator platform.

( 2 ) Check the appearance of the tires and see if they are cracked
or damaged.

( 3) Both of the above.
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2. Before riding, what checkups should riders do?

( 1) Before riding, check the tires, lighting, horn, brake and oil to ensure
riding safety.
. (2) Thereis no need to check for fear of wasting time.
N % ﬁ‘1 (3 ) Check before long-distance riding; there is no need to check

before short-distance riding.
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3. Which is the correct specification for motorcycle exhaust pipes?

(1) A (2)B (3)C
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4. According to the picture, which is the correct sitting manner?




5. According to the picture, which is the safe way of carrying pets?

(1)A (2)B (3)C
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6. According to the picture, which is the safe way of carrying goods?




7.According to the picture, which is the correct color of turn signals?
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(1)Orange (2)Green (3) Blue

-4
—




8. According to the picture, which motor has the taillights that comply with the rule?
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9. According to the picture, which is the correct starting that the rider should do?
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) Check the rearview mirror. If there is no car or motor, one could start to go.

) Put on the turn signal and start to ride.
) Put on the turn signal and check the front and rear. If there is no car or motor, one

could start to go.
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10. According to the picture, which is the correct parking place for riders?
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11. According to the picture, which statement regarding the parking place of

motors is true? ;
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(1) If the motor does not press the red line, it does not violate the rule.

(2) You should not park on the right or left side of temporary parking
banning lines.

(3) You could park for a while if you do not affect the traffic, and you will

| not be punished.
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12. According to the picture, which is correct when riding through road curves?

(1) Rider A crosses the double yellow line on the central road and
speeds up to overtake.

(2) Rider B speeds down and does not overtake for feat that he
might run into the opposite traffic lane.

2 | (3) Rider C speeds up on the right side of the front vehicle.
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13. According to the signals in the picture, which rule does the rider violate?

(1) Riding on the fast lane.
(2) Not puttlng on daytime running lights.
(3) Riding in the opp05|te direction.
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14. According to the picture, which error does the rider make when riding?
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15. According to the picture, what should the rider do to ride safely?
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(1) Sound the horn to make people make ways.
(2) Speed down to prepare for parking.
(3) Ride fast to make people make ways.
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16. According to the picture, which mistake does the rider make?

(1) Sound the horn and turn fast directly.
(2) Turning vehicles should let vehicles that go straight go first.
(3) Before turning, one should speed down and get ready for parking.
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17. According to the picture, if the rider decides to turn right, which lane should he take?
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18. According to the picture, when facing obstacles, what sequence should the rider
follow to brake?
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19. According to the picture, if they want to go home, what should they do?

(1) Take the public transportation or ask their friends or families to pick
them up.
(2) It is ok to be a bit drunk. They could still ride motors back home.
. (3) Itis ok to ride a short distance because their homes are in the nearby
neighborhood.
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20. When the cell phone rings during riding, what should riders do?
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21. According to the picture, which behavior violates the law?

(1) Smoking when riding.
(2) Passenger with side sit-out position.
(3) Both of the above.
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22. According to the picture, which is the correct way to overtake the front car?

A ™)

(1) There is no rule.

(2) From the right side of the front car.

(3) Turn on the left turn signal and keep over a 0.5 m distance on the left
side behind the front car.




23. According to the picture, in which area could the rider cross the lane and overtake?
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24. According to the picture, riders have different field of visions at different speeds.
Please put them in order from low speed to high speed.

(1) A»C—B (2)B—>C—A (3)C—A—B |
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25. According to the picture, when could the rider turn on the high beams?

S (1)A (2)B (3)C
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26. When riding through the area shown in the picture, what should the rider do?

2 P 2

(1) Riders should speed down and follow the signal to ride.
(2) There is no obstacle; the rear motor could speed up to overtake.
(3) Riders could race with other cars or overtake.

=/ | . _ =T . » =

- » 2 ! ¥ £ -

e . - ! - -
——

I
Vi
3



27. According to the picture, when rider A discovers a vehicle that violates
the rule, how could rider A ride safely?

MRS\ L LN X

intersection.
2| (2) Pay attention to the motor, speed down, and pass.
(3) Sound the horn and speed up to pass.
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28. Which rider has the wrong behavior?




29. According to the picture, if your motor breaks down on railroad crossing, what is the
correct sequence to deal with the problem?

(2)C—-B—-A
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30. According to the picture, what should the rider do to ride safely?
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(1) Turn on the front light and drive to Traffic Lane X.
(2) Turn on the front light and drive to Traffic Lane Y.
il (3) Both of the above.
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31. According to the signal, who can go straight or turn right?




32. According to the picture, what should the riders do to ride safely?

(1) Speed up and pass.
(2) Sound the horn and speed up to pass.




33. According to the picture, when encountering bees, what should the rider do to ride safely?

(1) Take the route or retreat, and avoid large movements.
(2) Pull over and take pictures.




34. According to the picture, how should the rider ride?

(1) Riders could ride on both the inner lane and the outer lane.

(2) After turning on the turn signals, if there is no vehicle behind, he could switch onto the inner
lane directly.

(3) Speed down and turn on the left turn signal and check the rear-view mirror. If there is no
vehicle, he could switch to neighboring traffic lanes.
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35. According to the picture, how should the rider react when discovering the
manhole cover?

(1) Brake suddenly.
(2) Let off the throttle and keep a tight grip on the handle.
(3) Speed up and switch the traffic lanes to avoid the manhole cover.




36. According to the picture, how should the rider ride?

&

(1) Ride Route X and change lanes.
(2) Change lanes directly and go onto Route Y.

" (3) Turn on the left turn signal. If there is no car, he could change the lane and ride
| Route Y.



37. According to the picture, what should the rider do to ride safely under
this condition? ?




38. According to the picture, which behavior is safer?

v =
(1)A (2)B (3)C

-—~’—~ -~ o—"-"~-— - '_r_

I
i
3



39. According to the picture, what should the rider do to ride safely?

(1) Since there are few people and vehicles, riders could ride fast.

(2) Stay under the speed limit, mind the signals, and turn on the

headlights.

i ! (3) The road lamps work well and there is no need to turn on the
headlights.
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40. According to the picture, which is the wrong behavior?

(1) Turn on the headlights.
(2) Speed down to ride.
%’ T‘ (3) Sound the horn actively and speed up.
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41. According to the picture, which is the wrong behavior?

(1) Hold the handle tight and ride slowly and
appropriately.
|l (2) Prepare for pulling over anytime.
(3) Speed up and ride through.
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42. According to the picture, which is the safe way to ride when the weather is cold?
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43. According to the picture, what should the rider do to ride safely?

(1) Stay on the right side. Avoid the dead angles when ascending.

j (2) Sound the horn actively and keep the original speed.
r | % | (3) Speed up to pass through.




44. According to the picture, what should the rider do to ride safely?

(1) Ignore cars that violate the rule and keep riding.
(2) Pay attention to the front car and speed down. F
(3) Sound the horn and speed up to pass immediately.
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45. According to the picture, what should the rider do to ride safely?

(1) Dodge rock fall and keep riding.
(2) Check or take other routes.
(3) Remove falling rocks and keep riding.




46. According to the picture, what should the rider do to ride safely?

N

(1) Speed up and pass.
(2) Brake suddenly.
(3) Speed down and avoid the danger caused by dead angles.
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47. According to the picture, which is safer when the rider pass the intersection?

(1) Ignore it and keep riding.
(2) Sound the horn and speed up.
(3) Speed down and make ways for cars carrying children.
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48. According to the picture, what should the rider do to ride safely?

(1) Let the car on the outer traffic lane pass first.
(2) There is no need to make ways.
(3) Sound the horn and speed up to pass.




49.According to the picture, when two motors enter the same traffic lane, which
should go first?

(1) Motor B.

(2) Motor A.
r %‘ .l (3) Whoever enters first could pass first.
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50. How should the rider ride more safely when passing the intersection?

(1) Sound the horn and overtake on the right side of the car.
(2) Sound the horn and overtake on the left side of the car.
r %‘ ?‘ll (3) Speed down and pay attention to the car that violates the rule.




51. According to the picture, arrange the sequence of priority of road rights.
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52. According to the gesture of the policeman in the picture, which motor should
stop?
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53. According to the picture, how could riders ride safely?
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54. According to the picture, what is the correct reaction of the rider?

(1) Sound the horn actively, speed up and pass on the left side of the car.
(2) Do not force to overtake, and speed down to prepare for pulling over
il anytime.

4 (3) Use the opposite traffic lane to overtake.
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55. According to the picture, what should the rider do?

(1) Prepare to brake and stop anytime.
(2) Speed down and pay attention to the tendency of the taxi.
r %‘ ?‘ll (3) Both of the above.




56. According to the picture, what should the rider do to ride safely?

=

(1) Pay attention to the front car, carefully change lanes, and pass slowly.

‘ (2) Sound the horn and urge others to ride. o
%' W (3) Speed up to overtake.
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57. According to the picture, which area can be risky for the rider?
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58. According to the picture, when the rider faces this situation, what should he do?

(1) Speed down and pass carefully.
(2) Sound the horn and speed up to pass.
(3) Keep the original speed and switch lights as a warning.
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59. According to the picture, when motors break down, how should riders deal with
the problem?

(1)A (2)B (3)C
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60. According to the picture, which tire has the right tire pressure?
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